Integration Test ... Set 1

Integration Test Review

For each problem, approximate the area under the curve over the given interval using 4
midpoint rectangles.

2
1) y:% +x+2; [-2,2]

For each problem, approximate the area under the curve over the given interval using 3
trapezoids.

2) y=—x"+2x+11; [-10,2]

For each problem, use a left-hand Riemann sum to approximate the integral based off of the
values in the table.

35
3)] g(x) dx
0

x |0 1822]25]35

gdx)|9|7|2]|-1]-5

For each problem, use a richt-hand Riemann sum to approximate the integral based off of the
values in the table.

29
4) f Flw) dw
0

flwpjo|3]4|3]1
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Answers

Integration Test Review

For each problem, approximate the area under the curve over the given interval using 4
midpoint rectangles.

2
1) y:% Fx 42 [-2,2]

(]

=10.5

|

For each problem, approximate the area under the curve over the given interval using 3
trapezoids.

2) y=—x"+2x+11; [-10,2]

-332

For each problem, use a left-hand Riemann sum to approximate the integral based off of the
values in the table.

35
3)[ g(x) dx
0

x |0]18[22]25]35
gdx) (o7 ]2 ]-1]|-5

186

For each problem, use a richt-hand Riemann sum to approximate the integral based off of the
values in the table.

29
4) f £w) aw
0

w |0[3]12]28]29
flwlo|3]4|3]1

94




Evaluate each indefinite integral.

5) f{lz_ﬁ' +9x? + 6x) dx

1) f4cosxdr

13) fs-s‘dx
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6) fz_r{lsx‘* —2x*=3) dx

10) f-’-lcsc xcot x dx

12) [ —4sec? x dx

14) f —2x" d
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Answers

Evaluate each indefinite integral.

5) f{lzf +9x2 + 6x) dx

3xt 437 432+ C

11) f4cos x dx

4sinx + C
13) f3 -5% dx
3.5 CC

6) fzx{lsx‘* —2x*—3)dx

- 6 4 2 .
Sx"—x" —=3x"+C

sx2 8
X
8 ——|dx
)f( 3 x3)
S 4
xT+—+C
X~

10) f4csc xcot x dx

—descx + C

12) f —4sec® x dx

—4tanx + C

14) f —2x " dx

~2In |x| +C



15) fe't dx

1?)f

1+x°

7?dx
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5
16) f 7 - dx
V1-x"

3si
18) [ T

COs™ X



Answers
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5
16) f dx
’\/l —x

5sinx+C

3si
18) f T i

Cos™ Xx

Jsecx+ C
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Evaluate each definite integral.

3 8
19) j (=x* +3x% = 1) dx 20)f4-’“3 "
-1 27
2 3
5 2
21) f—dx 22)f—zdx
1 X 1 X
= V3
2 3 9
23)f sin x dx 24) = dx
m NE I +x"
"6
1 3 .
) . 2x+1,x<1
25) | (3x+ |2x+2|) dx 26) | flx)ax, fx)=1
4 , x*=2x, x21
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Answers
Evaluate each definite integral.
3 31
19) f (—x* +3x2 = 1) dx 20) f ax> dr
-1 27
4 -195
2 3
5 2
21) f—dx 22) f—zdr
p X X
5ln 2 = 3.466 4 13m
3
_x V3
2 3 9
23) f sin x dx 24) — dx
s N 1+xT
"6
3 3
-——=~-0.866 2
2
1 3
) . “2x+1,x<1
25) | (3x+|2x+2|) ax 26) | flx)ax, f(x)=1 ]
» ., x =2x,xz21
20
— =~ 6.667
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For each problem, find F'(x).

x Ix
27) Flx) = f 3¢’ dt 28) Flx)= j —2sec ftan ¢ df
-1

I
6
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For each problem, find F'(x).

27) Flx) = f 3! dt
-1

F'(x)=3¢"
4
29) Fix)= d
) Pl [ i—2)° r
F'(x)= 3_1;\ ¢

Answers

Ix
28) Flx)= f —2sec ftan ¢ df

T
6

F’(_\') = —6sec 3xtan 3x

10
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For each problem, find the average value of the function over the given interval.

30) flx)=x*-3x*+6; [-1,2]

11
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Answers

For each problem, find the average value of the function over the given interval.
30) flx)=x*-3x2+6; [-1,2]

7425
4

12



